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1. () -ﬁxﬁ-eﬁ M1A1
() =4-2J3-4/3+6=10-6V3 M1Al (4)
2. 3-5=2 M1
3¢ -2x-5=0
(3x—5)(x+1) =0 M1
x:_l,% A2 (4)
3 Xx-5y=7 = y=ix-{ -~ gad=3% Bl
gradm= 2 =5 M1A1
5
y—1=-5(x+4) M1
y=-5x—19 Al ©)
4. (@ 1,7,2579 B2
() 7=a+b M1
25=7a+b Al
subtracting, 6a=18 M1
a=3,b=4 Al (6)
5 @ 8x- Xt =0
X8— x2)=0
x=0(a0) or x: =8 M1
. X=(§/§)2=4 M1A1l
dy _ 3
() = =8-%x: M1AL
grad =8 (2 x 8) =12 ML1Al (7)
6 (@ f=2[F-2x+1 M1
=2[(x-1)%*-1] +1 M1
=2(x-1)°-1, a=2b=-1c=-1 A2
(b x=1 B1
(© 2(x-1)°-1=3
(x—1)*=2 M1
x=1+ 2 M1Al (8)
2
7. (@) f(x= X=8x+16 M1
2x2
f)=1x? — 4x* + 87, A=1,B=-4,C=8 A2
) f)=2x2 - 27 - 4x? M1A2
()= 1x7 (3¢ - 8x - 16) M1
f/(x): %X’% (3X+4)(X—4)= w M1A1l (9)

4x2
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8. (@ trandation by 1 unit in the positive x-direction B2
(b) y4
y=0 .
—]0 "X B3
(0! _1)
x=1
1 _ 1
© 57275
Xx=2X(x—1) + (x—1) M1
2¢-2x-1=0 Al
= 2J_r\£m M1
= Zijﬁ M1
x=1+143 Al (10)
9. (8 S=£[3000+ (5x—x)]=8100 M1A1
3000 — 5x = 2700, x=60 M1Al
(b)  =1500- (7 x 60) = 1500 — 420 = £1080 M1A1
(© S =2[3000-60(n-1)] M1
=n[1500 — 30(n — 1)]
=30n[50 — (N — 1)] =30n(51 - n) [k=30] M1A1
(d)  thevalue of salesin a month would become negative
which is not possible Bl (20)
10. (@ y= j (3 +4x +K) dx
y=x+2¢+kc+c M1A2
(0,-2) ~.c=-2 B1
(2,18) . 18=8+8+2k—-2 M1
k=2 Al
y=xC+2¢+2x -2 Al
(b) X+2¢+2x-2=x-2
X+2¢+x=0
X+ 2x+1)=0 M1
x(x+1)%=0 M1
repeated root .-. tangent Al
point of contact where x=-1 M1
o (-1,-3) Al (12)
Total (75)
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Question no. 1 2 3 4 5 6 7 8 9 10 | Totd
i d ad. | straight | indices, l. diff. [transform.,| AP integr.,
Topic(s) HE T e [Trear. | atr. | sume | | g rep. oot
relation formula
Marks 4 4 5 6 7 8 9 10 10 12 75
Student
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